THE POLICE AND CRIME COMMISSIONER FOR LINCOLNSHIRE EXPENSE CLAIM FORM

PERIOD: 1st October - 31st December 2023

NAME: PCC Marc Jones

| Date | Description (NB: If hotel incurred, include time of departure/return) | Location | Miles Travelled | Miles Claimed | Rate per Mile £ | Mileage Allowance Claimed £ | Passenger Miles | Passenger Rate per Mile £ | Passenger Allowance Claimed £ | Subsistence Expenses (attach receipts) | Fares & Other Authorised Payments (attach receipts) |
|------------------------|---|--|--------------------|------------------|--------------------|-----------------------------------|--------------------|---------------------------------|-------------------------------------|--|---|
| 04/10/2023 | IAM RoadSmart Lincolnshire AGM & 50th Anniversary Meeting | Home - LN6 9NH - Home | 33 | 21 | 0.45 | 9.45 | - | 0.05 | , | - | - |
| 13/10/2023 | Visit to 'The Happening', Sleaford Police Station Home - NG34 7LZ - Home 64 46 0.45 | | | | | 20.70 | - | 0.05 | - | - | - |
| 15/10/2023 | Lincolnshire Council for Voluntary Youth Services Awards | Home - LN1 1YW - Home | 23 | 10 | 0.45 | 4.50 | - | 0.05 | • | - | - |
| 17/10/2023 | City of Lincoln Council Leadership Meeting | Home - LN1 1YL - Home | 22 | 9 | 0.45 | 4.05 | - | 0.05 | - | - | - |
| 02/11/2023 | Ambulance Summit | Home - LN1 1YL - Home | 22 | 9 | 0.45 | 4.05 | - | 0.05 | , | - | - |
| 03/11/2023 | Lincoln Policing College | Home - LN2 5HQ - Home | 24 | 9 | 0.45 | 4.05 | - | 0.05 | - | - | - |
| 07/11/2023 | Greater Lincolnshire LEP Conference - Workforce for the Future | Home - LN2 2NA - Home | 14 | 10 | 0.45 | 4.50 | - | 0.05 | • | - | - |
| | Uber - PCC's corporate credit card faulty, so incurred charge on personal card for travel in relation to attending Crimestoppers Annual Dinner, London | Crimestoppers Dinner London W1J 5JD | 0 | 0 | 0.45 | | - | 0.05 | - | - | 12.94 |
| | Tube travel in London 09/11/2023 in relation to attending meeting with Police & Crime Minister - PCC's corporate credit card faulty, so paid on personal card | Travel between Kings Cross/Westminster | 0 | 0 | 0.45 | - | - | 0.05 | - | - | 5.50 |
| 10/11/2023 | ube travel in London 09/11/2023 in relation to ttending meeting with Police & Crime Minister - CC's corporate credit card faulty, so paid on ersonal card. Penalty incurred for using different card outward section. | | - | - | 0.05 | - | - | 18.80 | | | |
| 10/11/2023 | Parking whilst attending Springfield Veterans Parade, Spalding | Spalding PE12 6EU | 0 | 0 | 0.45 | - | - | 0.05 | - | - | 2.00 |
| 15/11/2023 | Tube travel in London 15/11/2023 in relation to attending APCC/NPCC Joint Summit - PCC's corporate credit card faulty, so paid on personal card | Travel between SE1 and SW1P | 0 | 0 | 0.45 | - | - | 0.05 | - | - | 2.70 |
| 17/11/2023 | Tube travel in London 16/11/2023 in relation to attending APCC/NPCC Joint Summit - PCC's corporate credit card faulty, so paid on personal card | Travel between SW1P/Kings Cross | 0 | 0 | 0.45 | • | - | 0.05 | • | - | 2.70 |
| | | | 202 | 114 | | | - | | - | - | |
| | | | | SUB TO | TALS £ | 51.30 | | | - | - | 44.64 |
| TOTAL AMOUNT CLAIMED £ | | | | | | | | | | | 95.94 |

THE POLICE AND CRIME COMMISSIONER FOR LINCOLNSHIRE EXPENSE CLAIM FORM

PERIOD: 1st October - 31st December 2023

NAME: PCC Marc Jones

| Date | | | Rate per Mile £ | Mileage Allowance Claimed £ | Passenger Miles | Passenger Rate per Mile £ | Passenger Allowance Claimed £ | Subsistence Expenses (attach receipts) | Fares & Other Authorised Payments (attach receipts) | | |
|------------------------|--|---|--------------------|-----------------------------------|--------------------|---------------------------------|-------------------------------------|--|---|------|--------|
| | c/f from Page 1 | | 202 | 114 | 0.45 | 51.30 | - | 0.05 | - | - | 44.64 |
| 05/12/2023 | Return rail ticket paid on personal card in order to book personal guest to accompany to No.10 Downing Street evening reception on 08/12/2023. Claim is for PCC portion of ticket only, plus mileage to park in Lincoln. | Home - LN1 1YL - Home | 22 | 9 | 0.45 | 4.05 | - | 0.05 | - | - | 74.90 |
| 13/12/2023 | Mileage for PCC and CX of Lincolnshire Coop meeting, Lincoln City Centre | Home - LN1 1YL - Home | 22 | 9 | 0.45 | 4.05 | - | 0.05 | - | - | - |
| 13/12/2023 | 1 x Hot drink at 200 Degrees North café, Lincoln LN5 7ET for meeting between PCC and CX of Lincolnshire Coop in Lincoln City Centre / Mileage to park at LCC County Offices, Lincoln LN1 1YL | Home - LN1 1YL (Parking) - Home Drinks at 200 Degrees North, Sincil Street, Lincoln LN5 7ET | 22 | 9 | 0.45 | 4.05 | - | 0.05 | • | 3.50 | - |
| 13/12/2023 | 1 x Hot drink for meeting between PCC and CX of Lincolnshire Coop in Lincoln City Centre | 200 Degrees North, Sincil Street, Lincoln LN5 7ET | 0 | 0 | 0.45 | - | - | 0.05 | • | 3.80 | - |
| 14/12/2023 | HMP Lincoln Christmas Carol Service, Lincoln | Home - LN2 4BD - Home | 22 | 8 | 0.45 | 3.60 | - | 0.05 | • | - | - |
| | | | | | 0.45 | - | - | 0.05 | - | - | - |
| | | | | | 0.45 | - | - | 0.05 | • | - | - |
| | | | | | 0.45 | - | - | 0.05 | - | - | - |
| | | | | | 0.45 | - | | 0.05 | - | | |
| | | | | | 0.45 | - | | 0.05 | - | | |
| | | | | | 0.45 | - | | 0.05 | - | | |
| | | | | | 0.45 | - | | 0.05 | - | | |
| | | | 290 | 149 | | - | - | | - | | |
| | | | • | SUB T | OTALS £ | 67.05 | | | - | 7.30 | 119.54 |
| TOTAL AMOUNT CLAIMED £ | | | | | | | | | | | 193.89 |

PAGE 2 OF 2

PCC Marc Jones - Travel Bookings

| Booking | Date of | | | | | Travel | Reimbu | ırsed | | |
|------------|------------|------|--|----------|--|--------|--------|-------|------|---------|
| Date | Travel | Type | Description | Provider | Purpose of Journey | Class | to P | CC | Cost | to OPCC |
| 14/09/2023 | 25/10/2023 | Rail | Lincoln LCN - London KGX - Anytime Single | LNER | College of Policing Board | Std | £ | - | £ | 93.10 |
| 14/09/2023 | 25/10/2023 | Rail | London KGX - Lincoln LCN - Anytime Single | LNER | College of Policing Board | Std | £ | - | £ | 93.10 |
| 03/11/2024 | 08/11/2024 | Rail | Lincoln LCN - London KGX - Anytime Single | LNER | Crimestoppers Annual Dinner 2023, London | Std | £ | - | £ | 93.10 |
| 03/11/2024 | 09/11/2024 | Rail | London KGX - Lincoln LCN - Anytime Single | LNER | Crimestoppers Annual Dinner 2023, London | Std | £ | - | £ | 93.10 |
| 13/11/2023 | 14/11/2023 | Rail | Lincoln LCN - London KGX - Anytime Single | LNER | APCC-NPCC Summit | Std | £ | - | £ | 93.10 |
| 13/11/2023 | 16/11/2023 | Rail | London KGX - Lincoln LCN - Anytime Single | LNER | APCC-NPCC Summit | Std | £ | - | £ | 93.10 |
| 15/11/2023 | 30/11/2023 | Rail | Lincoln LCN - Sheffield SHF - Anytime Return | Northern | Police Public Bravery Awards | Std | £ | - | £ | 30.60 |

PCC Marc Jones - Accommodation Log

*KEY:

RO - Room Only

BB - Bed & Breakfast

BBD - Bed, Breakfast & Dinner

BBDC - Bed, Breakfast & Dinner & Conference

Corporate

| | | | | | Rate | | | | | | |
|------------|------------|------------|-----------|--------------------------------|------|---------------------|---------------|---------------------------|--------|----------|----------|
| Booking | | | | Star | | Applied? (APCC / | *RO / BB / | Room Type (SGL / DBL / | Total | Cost per | |
| Date | Arrival | Departure | Location | Reason for Stay Rating | g | Other?) | BBD | KING / SUITE) | Nights | Night | Total |
| 07/11/2024 | 08/11/2024 | 09/11/2024 | London | Crimestoppers Dinner 2023 3 | | n/a | RO | DBL | 1 | £ 207.09 | £ 207.09 |
| 13/11/2023 | 14/11/2023 | 15/11/2024 | London | APCC/NPCC Summit 2023 4 | | n/a | BB | DBL | 1 | £ 239.20 | £ 239.20 |
| 13/11/2023 | 15/11/2024 | 16/11/2023 | London | APCC/NPCC Summit 2023 4 | | n/a | BB | DBL | 1 | £ 247.20 | £ 247.20 |
| 05/09/2023 | 30/11/2023 | 01/12/2023 | Sheffield | Police Public Bravery Awards 4 | | n/a | BB | DBL | 1 | £ 151.50 | £ 151.50 |